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| Integration of the logarithmic part using Trager-Rothstein .
| > € 1= X™4-3kx"2+6: d := X"6-5xXx"4+5kx"2+4:
> Int(c/d,x);

x4—3x2+6

»x6—5x4+5x2+4dx:'( _,)(—X ’\() )C )( );

> gcd(d,diff(d,x)); # check that d is square-free
1

resultant( c-zxdiff(d,x), d, x );

> Rz :
Rz == 2930944 z° + 2198208 z* + 549552 2% + 45796

> Rz := factor( Rz );

3
Rz = 45796 (42° + 1)

> alpha := {solve( 4%z"2+l1, z )};

1 1 . N
a={yL-y1]  K=F R=TZ

> v[1] := gcd(c-alpha[l]lxdiff(d,x),d);
vy = x3+x21—3x—21
[> vI2] := gcd(c-alpha[2]%diff(d,x),d);

v, = x3—Ix2—3x+21

> TR := alpha[l]lxlog(v[1l]) + alpha[2]*xlog(v[2]);
TR = %Iln(x3+x21—3x—21)—%Iln(x3—lx2—3x+21)

> simplify( diff(TR,x)-c/d );




